e 1
Y F
e

y:x2_4x+59]-?i}/§jy:ax+b9’]_1':_
b3- VB U, 8% a, b O Gath O

y=$2+4:1:+5




2.

ojAttr y =2 4+ 3x+ 1 & L mF A y = —x+3 9] F

= f i
HEE (x1,31), (x2,52) BH W, yiye O 27

@D 11 ® 13 ® 15 @ 17



oj2tgtry = ax? —5x—2 9 Lot A y = bx +a O] WP x
a7t 7t

740,-3 4 W, & a,b & Fa+b o G2

Q -2 3 -1 @ 0 B 1



b

OJAFFE y = 22 +ax + 129 Tzt A y = 5x + b7t F A
P, QollAl vhdth. A& PQOl T #2273, 1)L W, a+ b9

*e?



5. y=iP—(a—da+3)r+a*+2 Sy = x 9 ¥ WHo] Y| Btol
dgolet. ol u, a o] ghe T

@D 4 @ 2 B -4 @ -2 B 3



= A WAA f(x) = 0, g(x) = 0 FEH ] LAY T}
273 2ok o] w, e F {10} + {g)}? = 08 BFH3HE
AL A=W
yl\
y=g(x)
\VANR Y B
N7
y=f(x)
D a @ a,b ® a,c

@ a,b.d ® a,b.c.d



7.

o AT o] oA y = —a? + a 9] TS AM y = mx7}
MR T2 % A P, QoA gtk F Qo] x 2B V519 1,
a+m2 2 Aotofet. (&, a, m 2 F25)

yl\
a




%

2x2 —3x 4+ 19] gz o} A

L 5L, & a b Ha

,]

—ax—i—b-J
=7

=
- A&

oA
=

94



the 2R3 2ol ol AFS y = 2 + b 9
e met HH y = ax 7H AR T HoIA
wrub, g el x 27k 2+ V3 A
a+b O A, a, b %)

1 @2 @3 @4 O5

y=1"+b

y=ax

02+/3 @



10. A7h4 A 5 % FolA 1 ABS] Fol 247} Hl= £ 45 Falola
=



ol 4x + 22 ©] gL

S

4= x,yoll o

Al
=
f

2471

‘-‘1—]_

45

, M+ m9] 327

St
=

@ 4 B 8

® 0



12.

o B oA
o + 529 H5E

e =
-

A x2 +2ax+9-2a® = 0°] A, pE 7HE I,

Fstolet. (&, at A%



